Name: ‘Hf\'f\ \P/\ l/z c?_/Z/OZO
HansenMath Pre-calc: 6.1 Law of Sines, DAY TWO

Warm it up, class

1.) Solve the triangle 2.) Solve the triangle
C=102.3° B=28.7° b=27.4feet A=43° B=98° c=22ft
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Remember Congruent Trlangle Shortcuts? The two above scenarios look like

Also, recall there was no SSA theorem, since it’s ambiguous and can lead to two different looking triangles,
for example:

Notice that CA and EF have the SAME length,
but lead to different triangles since angles A and

S S E are not FIXED.

So, when you have a SSA triangle, you have to respect some ground rules

The Ambiguous Case (SSA)
Consider a triangle in which you are given a, b, and A (h = b sin A).
A is acute. A is acute. A is acute. A is acute. A is obtuse. A is obtuse.
Sketch
b a A a
A A
Necessary a<h a=h a>b
condition
Possible None One One Two None One

triangles




The Ambiguous Case (SSA) )

Consider a triangle in which you are given a, b, and A (h = b sin A).
A is acule. A is acute. A is acote. A is acute. A is obtuse. A is obtuse.

Sketch

3.). Single-solution CaseySSA" o b o FAVAN l/la\/@
a=22 b=12 A=42° @ (o > b
Solve the Triangle

4.) No-Solution Case: SSA

a=15 b=25 A =85° (D SSA ?? ‘aﬂa
Solve the Triangle




( The Ambiguous Case (SSA)
Consider a triangle in which you are given a, b, andA (h b sin A).

A is acute. A is acute. A is acute. A is obluse. A is obtuse.
R /A /[\ A E &
Necessary h<a<b
condition
Possible None One One Two None One
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5. solution Case: SSA O SS H

a=12 b=31 A=205°

Solve the Triangle @ A > E NoO <l\)o+ S?/g?if/ A>
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